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Nuller Through the Amplification Chain’s Viypy: as a
Function of Frequency
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Nuller Through the Feedback Loop’s Vype as a Function of
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Channel #1 Channel #2

500 T 500 T
® Openloop ® Openloop
B | 5 & | Bt
[ c
8 400+ B 8 400+
© 350 ° q © 350~ °
2 2
300 B 300
< <
N—r N—r
a 250 B B 250
% 200 q % 200~
Z x Z x
4= 150 B 4 150
> =}
%— 100 ] 4%‘100—
g 50| B g 50|
o . . . . . 0 . ) . . . .
o 0.5 15 2 2.5 35 4 0 05 1 15 2 2.5 35 4
Feedback ID (#) Feedback ID (#)
Channel #3 Channel #4
500 T T T T 500 T T T T
® Openloop ® Openloop
B | o & | B o
- R
c c
> 400 q > 4001
3 3
350 ° B 350 °
) O
o 300 B (@] 300~
< <
. 250 q . 2501
(<)) (5]
S 200 4 S 200
s x =z x
4= 150 q 4= 150
> >
-8' 100 B ..9' 1001
> >
S . IS
0 . L4 . . 0 . ° \ .
0 05 1 3 35 4 0 0.5 1 3 35 4

Feedback ID (#) Feedback ID (#)



Voutput Nuller (ADC counts)

500

IS
a
=)

400

Voutput Nuller (ADC counts)

o

Channel #5

T
@ Openloop
x 10K

O 5K

0.5 1

Feedback ID (#)

Channel #7

35

T
@® Openloop
x 10K

O 5K

=)

0.5

Feedback ID (#)

35

Voutput Nuller (ADC counts)

Voutput Nuller (ADC counts)

o

Channel #6

® Openloop
x 10K
O 5K

I [ ]

0.5 1

Feedback ID (#)

Channel #8

35

® Openloop
x 10K
O 5K

=)

.
05 1

Feedback ID (#)

35
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Carrier Through the Amplification Chain’s Vi, as a
Function of Frequency
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Heater Voltage Read as a Function of Heater Voltage Set
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